BIC

log[ Relative Probability ]

—200

Window Half—Width (km/s)

10%

5%x10°

2x10°

10

—100

1000 10*

100

rm842 2/(409989 ~5136)=0.976
T | T | T | |
i BIC 461646 25 ABIC 0. OOO AlogP 0.0000 ]
3 X 395269.16 Ax 0.000 AlogP 0.0000 -
- - - - : BIC
B _—— = —
B o= = = = = = = < = = = = - - = Ll_; -------------- T T T m e e ————————————————————————— 2
' ' X
| ABIC —67226 1134 :( i
AP —67226 -29.0
5046 5046 5136
A ACs , ACSF
L | L | L | L | L | L |
20 40 60 80 100 120
120 iterations
rm842 2/(409989 ~5136)=0.976
T | T | T | |
: BIC 461646 25 ABIC 0. OOO AlogP 0.0000 :
2 2
"""" 5046 .| " bo46 || 513 T
L A AC5 I A_C5F A
L | L | L | L | L | L |
20 40 60 80 100 120
120 iterations
Fe2 19470% 368+229 km/s
rm842 BLR 5110 NLR 900 km/s
F T | T | T | T | T | T !
ke 3BIR
NLR
Fell
r AC ! - —
| | | o 1 lI . l s . I . o | b _,_rl
20 40 60 80 100 120

120 iterations

kdh1 12-0ct-2021 02:51



